Constable GD in Central Armed Police Forces CAPFs SSF Rifleman GD in Assam
Rifles Examination 2024

[Exam Date 22/02/2024
Exam Time 5:00 PM - 6:00 PM
Subject Constable GD Examination 2024

Section : Part-A-General Intelligence and Reasoning

Ans
1.
2.
o 3.
4.
Q.2
Ans 1. 79
2. 72
3. 9f
« 4 88




Q3 Which of the following groups of letters when sequentially placed from left to right will complete the given series?
cd_fc efcdefede cdefede cdef
Ans 1. efdf
2. cddf
5 edff
4. fede
Q.4
Ans v 1 B
2 A
3. Y
4. 7
Q.5
Ans 1. KSAHTRO
« 2. TFMEPPO
3. OPPEMFT
4 ORTHASK
Q.6
Ans
o 1.
2.
3.




Q7

Ans  »1.5,2,3,.4,1
2.5,2,1,3,4
3.5,2,3, 1.4
4.3,5,2,4.1

Q.8 A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

MNRT, QRVX, UVZB, YZDF, ?
Ans « 1. CDHI
2. DEHT
3. DEFG
4 DEMR

Q.9

Ans 1. UXZ
2 PTX

3. PQR

4. SRT




Q.10

Ans
1.
2.
3.
4.
Q11
Ans 1 Gopal
2. Jatin
3. Ishaan
4. Sumit
Q.12
Ans 1. 120
2. 128
3 125
4. 121




Q.13

Ans 1. = and -
o 2. % and +
3. = a_‘r_'ld b4
4. 4+ and -
Q.14
Ans
1.
2.
3.

Q15 If1SASBO9C3=20and ISA20B15C5=35,then8SA6B4C2=7"

Ans 1. 12
2. 15
311
4. 13
Q.16

Ans 1. KFAKGQ
2. KFAQGK

3. AFKQGK

« 4 AFKKGQ




Q17

In the following question, select the related letter pair from the given alternatives.

YL:UH:7
Ans 1. PQ:RS
2. 0B :GT
W« 3. TG : PC
4. U VvV
Q.18
Ans




Q.19

Ans 1.

& 2.

3. Neither conclusion I nor IT follows

4.
Q.20 If P+ Q means P is the brother of Q. P * Q means P is the mother of Q, P+ Q means P is the father of Q and P— Q
means P is the sister of Q. IfA * B+ C—D — E —F, then how is A related to E?
Ans

« 1. Father's mother

2. Father

3. Mother

4. Father's sister

Section : Part-B-General Knowledge and General awareness

Q.1
Ans 1. M3
2. M2
3. M4
o 4 M1

Q.2

Ans 11940
2. 1950

3. 1920

4. 1930

Q.3

Ans 1.




Q.4

Ans 1. 11
2.7
3.5
410
Q.5
Ans 1.
2.
3.
o 4.
Q.6
Ans & 1.
2.
3.
4.
Q7

Ans 1. BothIandII
2. Only I
3. Neither I nor II
4. Only IT

Q8 1n India, Garibi Hatao and attainment of self-reliance was the main objective of

Ans 1.
o 2.
3.

4.

Q.9

Ans 1.




Q.10

Ans @1 Only II
2. Neither I nor IT
3. BothTand IT
4. Only I
Q.11
Ans 1. Sarod
2. Santoor
3. Sitar
& 4.
Q12 yWhich of the following parts of the Indian Constitution deals with The Union and its Territories?
Ans 1. Part II
2. Part III
3. Part IV
« 4 Part 1
Q13 Kuchipudi originated in a village named Kuchipudi in the Indian state of
Ans 1. Kerala
2. Tamil Nadu
3.
a.
Q.14
Ans 1. eight
2. seven
3. five
4. sIX
Q.15
Ans 1.




Q.16

Ans 1
2. Atul Butte
3.
o 4.
Q.17
Ans 1. 365
2..90
« 3. 100
4. 180
Q.18

Ans 1. Lead
« 2. Hydrogen

3. Platina

4. Sulphur

Q.19

Ans 1. 9,800
2. 14,906

3. 18,502

4. 4,580

Q.20
Ans 1. Kalhana
2

+ 3. Kalidasa
4.

Section : Part-C-Elementary Mathematics

Q1 The difference between circumference and the diameter of a circle is 12 em. What is the area of the circle?

Ans 125 em?

¥ 2 24,64 cm?
33226 cm?

4 18 cm?




Q.2

The Least Common Multiple of two prime numbers x and v, (x<y) is 145. Then what is the value of (10x - y)?

Ans 1. 11
2 21
3. 27
418
Q.3
Ans 1.
2. 15 days
3.
4.
Q4 A person lent certain sum of money at the annual rate of 24 percent on simple interest. In 5 years the interest amounted
to Rs. 1200 more than the sum lent. What is the sum lent?
Ans 1. Rs. 2400
2. Rs. 3600
+ 3. Rs. 6000
4. Rs. 3000
Q.5
Ans 1. 5 percent
2. 20 percent
3. 8 percent
4. 10 percent
Q.6
Ans 1.
2.
3. 11.11 percent
4.
Q7
Ans 1.1.07
2. 2.02
3 1.04

4. 1.09




Q.8

Ans « 1. Rs. 3000
2. Rs. 2400
3. Rs. 2800
4. Rs, 2700
Q9  (Cost price of an article is Rs. 360. If the profit percentage is 8 percent, then what is the value of profit?
Ans 1. Rs. 30
2. Rs.25.6
« 3 Rs. 28.8
4. Rs. 245
Q.10
Ans 1. 04
¥ 2. 105
3. 124
4. 113
Q.11
Ans 1. 1474
2. 4124
W3 4131
4. 1254
Q.12 The tax imposed on an article is decreased by 17% and its consumption increases by 17%. Find the percentage change
in revenue.
Ans 1.
2.
3.
4.
Q.13 2 2 2 2
What is the value of + + + e 2
e VaE ol 137355 5.7 Toox101
Ans 1.101/102
2. 99/100
« 3 100/101
4. 00/101
Q.14
Ans 1. 25
2. 15
3. 30

4 20




Q15 Anil can do a work in 80 days. What percent work of the total work can be done by Anil in 30 days?
Ans 1.

2. 40 percent
3. 42 percent

o 4.

Q16 The ratio of P, Q and R is 6 : 5 : 9 respectively. If their sum is 400, then what is the difference between P and R?

Ans o 1. G0
2. 70
3. 100
4. 80D

Q17

Ans & 1.
2. 49 years
3. 51 vyears

4. 53 years

Q.18

Ans 1]
2. 12
3. 13
4. 10

Q.19 In a smoothie recipe, the ratio of fruits to yogurt is 5:2., and the ratio of yogurt to honey is 3:1. What is the ratio of fruits

to honey in the recipe?
Ans 1211
2.16:3
- 3:14
4 15:2

Q20 A person walks at a speed of 6 km/h and covers a certain distance in 4 hours. If the person increases the speed to 8

km/h, how long will it take to cover the same distance?

Ans 1. 2 hours
2. 5 hours
+ 3 3 hours

4. 4.5 hours

Section : Part-D-English




Q1

Ans 1. Amen
2. Yay
3. Tut
« 4. Hey
Q.2
Ans « 1. Owes
2. drops
3. abates
4. OWns
Q.3
Ans o 1
2. WNo error
3.
4.
Q.4
Ans 1.
2. No error
3.
& 4
Q.5
Ans & 1. figure out
2.
3.

4. No improvement




Q.6

Ans

1. Analysis
2. Iﬂsl.gllt
« 3. Ignorance

4.

Q.7

Ans 1. provide

2.

o 3.

4. economy

Q.8

Ans 1. o error

Q.9

Ans 1

Q.10

Ans

1. Outline

« 2. Divestment
3.

4. G—g(}d}r




Q.11

Ans 1.
« 2. pleased
3. happy
4. bothered
Q.12
Ans 1. Little
2. Quite
3. Very
4 All
Q.13
Ans 1. Mundane
« 2. Affluent
3. Destitute
4. Regular
Q.14
Ans 1. had being
2. was
3. has been
4. were
Q.15
Ans 1
2.
3.




Comprehension:

SubQuestion No : 16
Q.16

Ans 1. either

2. neither
3. all

+ 4. both

Comprehension:

SubQuestion No : 17
Q.17

Ans 1. era
« 2. period
3. movement
4. group

Comprehension:

SubQuestion No : 18
Q.18

Ans 1. over
2. of

3. along

« 4. about




Comprehension:

SubQuestion No : 19
Q.19

Ans 1. Spﬂt
« 2. place
3. part

4. over

Comprehension:

SubQuestion No : 20
Q.20

Ans 1. [‘Elggiﬂg

« 2. leaning
3. making
4. stalling

Section : Part-D-Hindi

U FufaRed uy § TR [Geedl § ¥, 39 98l {9 ey &1 9 S o aremil & R U Wse &1 [T gl
IR & &N Pl Giof arefl

Ans 1 a_lﬂER'
2. gXdag
3 ARG
v+ g




Q.2

Ans

feT =TT a7 W@ifeg e F1 a9 U AT FIfST
T|-JY AT H 93 7T gl

-

2. gogl

S T

o 4 gegel

Q.3

Ans

feT v I & 3T e e w1 TEs = R ' @ 9| #

aT J (Bfee=) SR F = g
. Je-ae

v 2 fea-fae=s
3. 3-11"3‘51'

4 ST

Q.4

Ans

fFrafeiad wy #, IR fadedl H 9, 39 fadbed &1 90 B2 Ol SHI¥ H 3T T Weg & dad &0 o] Jel f[dded ¢ |
SH T H gHRN (ARBT) BT ITART R |

1. Bﬁf[
v 2. SHAl

3 AR
4 offqa

Q.5

Ans

f3Q 1Y 919y ¥ Yaifeed el & o1 Uel Xsal aTl fddhed bl 94 & |

By ol & IS 31T 4T 2113 g
1. &g [l & 96 TS YU 3T o |
v 2 T &l & 915 TS 4 T3 ¢ |
3 gRacH 3T TaRgdHdl Tel ¢
4. 3 1Al P ST AT 4T 75 g




Q.6

Ans

fFraffad w8 U T ar et & T, 39 e o1 997 &% of fRU U gg R & of &1 999y =0 9 a1
&l g

quS Sl

v Hhad] U & 3520 U 83 WM &3l
2. B Fhar o [oTU Ul Sl
3. T fG@reR SHH Mdel
+ gauig Y BT IR BT

Q.7

Ans

FfRed wy o, 9R [eed! H U, 39 [deed &1 997 &3 ol ol 715 dldbliad B el 2 e [dhed g
o Us 1 Hia1 g

1 32 o) R o B R ghadl el el

2. JTgT-T ]I Xl
v 5 GR-IR B H T T8 I uRumH =31 fHedr ¢

4. g Aoigdl fe R & off st laT @

Q.8

Ans

ST 7T 915 &1 98 1T I1d &<, o @i 3¢ 81 3¢ ®ls 3fc el o, dl '@y 3ic Tl & I
St 4t g g i €1 59 g &

. Blg I8

2 g B |

.ol T 5Oy
v BRSNS

Q.9

Ans

T =0 I & 3T e e w1 TEs = N ' @ 9| #

T (EF)EeT F 3 o &7 BT =
1.31'-;1
2.a'fr

B I
o 4. 39Tk

=




Q.10

Ans

fag g g el H @ i fadbey Y ad-l el §, Waleh U 2 Ikl aTell 81 3 31 daf-it arel fashed bl
EUEEERY

1. T Y TR g Yl AR A8l
2 greroff & WA S gl

v 3 HaCR 81 WIRT B
“ Ye AT TS gl

Q.11

Ans

faT U a1 o7 98 HIT AId &Y, 5/ aH SIS e 3|
Al Bl U GHY DI Hw3] GGUIN B A1y |
1, Eﬂﬁfﬁ
v 2. 3] GUIRT
5. BT AR

4 30 THY Bl

Q.12

Ans

f3U 71U a1 H YEifded Usa &l faalid Xsg J1d Sifog|

TH 309 Yaobi & a1y 21 el 2
2. TP
3. ﬂ:ﬁ

v 4 dlqllg

Q.13

Ans

fay 7Y a1y & Waifed Weg & forg el ad+T J1d S|
WS e g 2o M ugd &

Q.14

Ans

Frofiiad vy ¥, 9R fadedl § 4, 39 faded &1 98- &< ol BN H 3T U sk & [Aam Weg &1 Tel oY g
gferl § W) gafadl dd & 59 f[dvg &1 (URMS) _ FF &1 3fid a0 ¢ |

1. wgq]
& 2. 3”'—(211:[

3. E@R’_‘:‘Wﬁ

4. HH




A v T arFT F BT a@elE oeg AT S

2 9grEr & &= T grer T

Ans 1 e
2. Tl

S Cr]
<4 ey

Comprehension:

A e 71w g # o oreg o1F faw arv € R 9w Rea vy & R Reew e aw 1 s A A
¥ Hi & owed Rad wom= & i HEEm-

Fifcier FSUT FAGEIT HT o= (1) g1 =T (2) T T areh 7 & F w7 s
# (3) gm%sﬂr(zm 7 & ST e §| 3 (B) TR g1 AR AT R
7 & e g

SubQuestion No : 16

O T 1 ¥ v Tew s9ged ReeT @ aaw AT

Ans o gl
2. T
3. 4T
4. gZar

Comprehension:

ARt AFc g s Rv i Ers e F M RFa R gl s 9 &
¥ Fia a1 RFewew Rea e & 9fF -

Ffcieh FSUT FAGEIT H groraerr (1) g1 3T (2 T AT areh 7 § & oW o srare
# (3) gm%sﬁr(ﬂ.} 7 & Fere v §| 3997 (5) TR g3 AR AT -
& e gl

SubQuestion No : 17

7 g2 F BT e 39 TreT &1 3T Ff=T
Ans 1. HH




Q.18

Ans

Comprehension:

A T 1w e # Fo e o3 fow v § HR 93w ew we F 9% Awe Rr v § 7w 9t A
¥ i @ FheT Rad Tu= &1 9fT Har-

Flfcreh FSUT FHGEIT H groargerr (1) g =T (2) T AT A A € B 1w o e
# (3) gm%sﬂrm 7 & Sene ww §| A (5) TSR AT HR FRT W
7 &9 o g

SubQuestion No : 18

Red 3 & forT ge@ 39gea fawey &1 =Iaa T

B ICEIG]
2.34?3’343'

g
v T

Q.19

Ans

Comprehension:

AaRr A Fc e o v w i aFr er e F M AFeT Rr v & s7 It A
ﬂﬁﬂmﬁmqﬁﬂﬁmﬂaﬁrqﬁ-’rm-

Fifcier T HAEEAT F EaEer (1) FIFH (2) ¥ o feaeh A § & | o e
= ) N gm%sﬂt(cl 7 &9 saw 1w § 3\ (5) TS g3 HR FT
# &g Faa 2

SubQuestion No : 19

g 4 & T gEw 3 RrereT &1 a7 fifaT)
1, EE-W
2. FEI-agl
s BTET

v i ERER

Q.20

Ans

Comprehension:

AaRr A Fc e o v w i aFr er e F M AFeT Rr v & s7 It A
#ﬁﬂmﬁwqﬁaﬂmﬂaﬁrqﬁrm-

Fifcier T HAEEAT F EaEer (1) FIFH (2) ¥ o feaeh A § & | o e
= ) N gm%sﬂt(cl 7 &9 saw 1w § 3\ (5) TR g3 HR FT W
# &g Faa 2

SubQuestion No : 20

g 5 & T §99 3 e &1 TIaT FaT

1, QE—@;{
2 FHaed

3. oIFaT
v 4 Feg






